OPUOESCHGER

MAKITA DDF 484 RTJ

Artikel Nr. Beschreibung

Article No Désignation

1 183E71-3  HOUSING SET HOUSING SET

1 252126-6  Sechskantmutter M4-7 ***ECROU NYLSTOP HEX M4-7
1 263005-3  Gummistift 6 CHEVILLE CAOUTCHOUC 6

2 852M14-1 DDF484 NAME PLATE DDF484 NAME PLATE

3 266429-2  Blechschraube 3x16 VIS 3x16

4 419041-9  Schalterschieber LEVIER DE POSITION

5 650710-5 SWITCH C3JW-4B SWITCH C3JW-4B

6 619406-7 ROTOR ROTOR

7 629225-3  STATOR STATOR

8 620549-0 LED CIRCUIT LED CIRCUIT

9 643874-2  TERMINAL TERMINAL

10 123738-1  SPEED CHANGE LEVER ASSEMBLY SPEED CHANGE LEVER ASSEMBLY
10 233438-6  Druckfeder 4 RESSORT DE COMPRESSION 4
11 251497-8  TAPPING SCREW 3X20 TAPPING SCREW 3X20

12 251468-5  Schraube M6x22 VIS TETE PLATE (-) M6X22

13 766027-7  KEYLESS DRILL CHUCK 13 KEYLESS DRILL CHUCK 13

14 123737-3  GEAR ASSEMBLY GEAR ASSEMBLY

15 266490-9  Blechschraube 2x6

16 620548-2  CONTROLLER CONTROLLER

17 652069-6  FLAT HEAD SCREW M3X6 FLAT HEAD SCREW M3X6

19 456967-4  REAR COVER REAR COVER

21 183E71-3  HOUSING SET HOUSING SET

21 252126-6  Sechskantmutter M4-7 ***ECROU NYLSTOP HEX M4-7
21 263005-3  Gummistift 6 CHEVILLE CAOUTCHOUC 6

22 266429-2  Blechschraube 3x16 VIS 3x16

04.09.2015




OPUOESCHGER

n

04.09.2015

13

21

10

14

16

MAKITA DDF 484 RTJ

2



